C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

GENERAL NOTES:

THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL
EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE
EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL.
THIS SYSTEM HAS BEEN TESTED AND EVALUATED AS A LEVEL D LARGE
MISSILE IMPACT PROTECTIVE SYSTEM IN ACCORDANCE WITH THE
FLORIDA BUILDING CODE SEVENTH EDITION (2020), FOR USE INSIDE THE
HIGH VELOCITY HURRICANE ZONE, AND THE INTERNATIONAL BUILDING
CODE (IBC) AND INTERNATIONAL RESIDENTIAL CODE (IRC). SEE
EVALUATION FOR MORE INFORMATION.

POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH
THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN
ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN
PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS
SHOWN.

TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND
ASTM E1886/E1996/E330. SEE EVALUATION REPORT FOR MORE
INFORMATION.

DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED
PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF
THESE PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED
FOR WOOD ANCHOR DESIGN.

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE
GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD
CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY
FACTOR OF Kd =0.85 SHALL BE USED.

THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SPECIFIC SITE.

PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING
STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS.

ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM,
BRICK, AND OTHER WALL FINISHES.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER
61G15-23 OF THE FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE
CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM
THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES
THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR
MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN.
ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS
WILL VOID THE APPROVAL DOCUMENTS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE
FOLLOWING MINIMUM INFORMATION:

TOWN & COUNTRY INDUSTRIES
FORT LAUDERDALE, FL
9 LB MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203
FLORIDA PRODUCT APPROVAL NUMBER

ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N.,
WITH A MINIMUM Fy OF 25 K.S.I.

ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE
STAINLESS STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.I.,
U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY.
MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION
PROVIDING WIND LOAD & IMPACT RESISTANCE = +69.3/-79.5 PSF FOR
ALL NON-SLIDING PANEL WITH TRACK CONFIGURATIONS. MAXIMUM
ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION FOR ALL SLIDING
PANEL TRACK CONFIGURATIONS = +57.2/-66.2 PSF.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28
PSF

SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE
LEFT IN THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT.
ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED.

COLO

NIAL SHUTTER (HVHZ) |

4017

PATENT #8126298

3.682"

B86L" |, 1.791"

23

I

@0.155"

@0.105" \RO.lOO"
1.792"——¢ \-R0.050"

1.200"

—.080"

I
|

600"

L

1.380
1.200"

1.040"

242"

|, 1318"

1.875"

i
o

141"

RO.

0.050"] 373

”,
11y W
faty

——

Frank Bennar
Date: 2021.01

2.118"
2" BAHAMA BLADE
SCALE HALF SIZE

r0.260"

r0.521"

081" £0.050"

\t//

£R0.100"

IONAY, S

Digitally sign«ld b

10:00:31 -05'q0

I FRANK BENNARDO, PE
~7# 0046549 CA#9885

\

Iio
07

1

MUNTIN
SCALE HALF SIZE

055"

JAMB

JAMB SNAP

! 3.663"

‘ 4.000"

SCALE: HAL

3.875"

— 145"

F SIZE

%090”

R13.796"
R13.851"

1.510"

R.081"

R.250"

2.625"

g 060"

14.5¢

1.900
2.521"

SCALE: HALF SIZE

SCALE: HALF SIZE

— 15" .,
195

T

1125" |

145"

3.875"

3.015"

R 245”\

1.410"

4120

|, 1.200"

4.510"

—

COLONIAL BLADE

WALL HINGE

SCALE: HALF SIZE

245" 4

2.755"
2.365"
2.280

I

g

R 245“/ 220

910"

FLAT HINGE

SCALE: HALF SIZE

1.606"

1.5%90"

HEADER / SILL
SCALE: HALF SIZE

4120

4.510"

G BUILD-OUT WALL HINGE
SCALE HALF SIZE

@ 4" BAHAMA BLADE

R0.050"

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

FL16219.2

0., Inc.

ADlvision of ABC Suaply ¢

INDUSTRIES

1.000"

3.000" L, 3.000"

,1.000”

400 WEST MCNAB ROAD

2.190
2.000"

L, 190"
TYP

FT. LAUDERDALE, FL 33309

1.375"
Wholesale Aluminum and Building Products

Town“Country

©25"

4.190"

2.000"

8.000"

12/20/12
4/16/15
9/28/16
8/07/17
7/01/20

SCALE: HALF SIZE

2.190"

10007, 3.000"

3.000"

,1.000"

2.000"

, 190"

Typ 8.000"

1.375"

2.500"

4

625"

1.606"

ANGLE
SCALE HALF SIZE

1.796"

L-PIN-1/4" &
SCALE - HALF SIZE

LOCKING
FLARED END
250"% 3
\ N
/[

—.080"

A
v 10" TO
1 2077

[—

EQ L

1.188
@

— 112"
EQ

1.188"
|
RN\

I[

(1-ANCHOR)

080" —

1.188"

75"

@

75"

(2-ANCHOR)

"G" CLIPS
SCALE : HALF SIZE

)

"Z" BAR - PROFILE & LAYOUT
SCALE HALF SIZE

®. 270"

1625"
- 375’%’
MIN

I[
SECTION A

DRWN|CHKD | DATE
FLB

RWN [TSB

RWN |FLB

RWN [FLB

CCB |RWN

KL

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE
REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

REV - ADD 4" BLADE

REMARKS
INIT ISSUE
2017 FBC
2020 FBC

2014 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

VISIT ECALC.10/26193

FOR SITE SPECIFIC DEVIATIONS
& MORE INFORMATION ABOUT THIS DOCUMENT
OR SCAN THIS QR CODE

VISIT ENGINEERINGEXPRESS.COM/STORE
FOR ADDITIONAL PLANS, REPORTS & RESOURCES

SCALE: | -

PAGE DESCRIPTION:

OF

il

J




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXIST. STRUCTURE, TYP

| COLONIAL SHUTTER (HVHZ ONLY) |

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXIST. STRUCTURE, TYP

TYPICAL ELEVATION 4 PANELS MAX.

SCALE: /2" =1-0"

(3) ANCHORS REQUIRED, SEE Z-BAR

ANCHOR SCHEDULE FOR CONNECTION TO

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

W,

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

N

o)}

i

I

©

i

-

[T
o 3 ¢

S8 nQ

oY < K

=% O m

=D_g“5 X m

oS 5 m 4

-0 < ZI.IJ\

o O 5

s =%

l_

‘ e o

o=E S

2 383

® < 7.

© e
@
S e
-
= =

- IN CONCRETE (3.275KSI MIN) WITH 13," EMBED, 2" EDGE DIST., AND 4" MIN SPACING

- IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED., 2%" MIN EDGE DIST. AND 4" MIN SPACING
e TYPE E: #12 SMS W/ 2" EYEWALL ARMOR NYLON INSERT:

- IN CONCRETE (2KSI MIN) WITH 2" EMBED, 2" EDGE DIST. AND 3" MIN SPACING

- IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED, 2" EDGE DIST. AND 3" MIN SPACING

OR
DETAIL /@ o[p FOR ALL Z-BARS DETAIL /@ DETAIL YP@ cp FOR ALL Z-BARS EXISTING STRUCTURE
- ‘ - Daa— ‘ R
// g // : g =
\ > [%z i i [%z aN __ /OOF@
— — )
h h W
0 ASSEMBLY SCREW SHALL BE #10 x
y 1/4-20 S.S, MACHINE SCREW INTO. = % 1/4-20 S.S. MACHINE SCREW INTO NN N N N L— 2 HWH IO HT S TAINLESS STEEL
2 @@J 1/4-20 ALUMINUM RIV-NUT AT EACH < %J 1/4-20 ALUMINUM RIV-NUT AT EACH e SCREW XYLON LOATING DR EQUIY
s VERTICAL = VERTICAL —
2 @ o @ | =
~| (6)or ~| (e or \ MUNTINCTIREPLACES ANY (2)
NIO) | (8) | | 2_Jl/ coLonaTBLADES(S))
t ] QZ$I I X \\ N L73" MIN D
z e L o —— Z e e T — SEPARATION
N ILONF ] 2 o LT T4 ] 2 FROM GLASS
@] %] O
Vi = S > o = S > 1 ‘|\\\Y‘\\\\\\\Y\\\\\\Y\V\\\\\\Y\\\\\\Y\V\\\\\\Y\\\\\\\\V\\\\\\Y\\\\\\\\Y\\\Vl\Y\\‘b
o Y, W W ) w
bl m m
J = U
- | BEAM 2.4 | BEAM 2. %
T TOuw 2 TOw TYP. Y
v w o v w o BEAM
HJ o> HJ o> 3
| V¥V wug< | V w3z
_ 4y _ 4z INSTALLATION OF BLADES MAY
of £, oy o = - ooy 5 BE REVERSED
[ SN [ I = GaN/ SN
T EmZ T N EmZ
=N Ay FERENY = 240 L lo—(4) 174-20 ALUMINUM
O N100R(1) Ouw (9 U w = RIV-NUTS
C : C : : -
. [m) ORI
3400 MAX 3400 MAX 3400 MAX 3400 MAX 3400 MAX w
(W)
SHUTTER WIDTH = 68.00" MAX SHUTTER WIDTH = 102.00" MAX \i o 8
ST B V14017 STAINLESS STEEL SMS
BEAM SPAN PEAM SPAN 1| FLAT HEAD OR ROUND HEAD
TYPICAL ELEVATION 2 PANEL e TYPICAL ELEVATION 3 PANEL j';k
SLALE /20 =0 -07 SEE Z-BAR ANCHOR SCHEDULE FOR SCALE 1720 = 1=07 ’
OR@ CONNECTION TO EXIST. STRUCTURE, TYP BEAM SCHEDULE TYPICAL PANEL SECTION
DETAIL DETAIL YP /@ FOR ALL Z-BARS SCALE: 37 = 7-0
K — WALL BRACKET ANCHOR TYPES (+69.3/-79.5 PSF MAX)
’\ i : SE)QA,QEAHTOEi[H BEAM SIZE ALUMINUM | SHUTTER E/EA;"QSSPﬁgF
\ T WALL-HINGE ALLOY spaN  |( MAK CONCRETE HoLLow BLock | WOOD (G=0.42
SEE WALL-HINGE ) MIN)
ANCHOR
s VERTIEAL . CONNECTION TO 2"x3"x1/8" 6063-T6 6'-8" 6' 1" AB,CD,E AB,CE B.C
< ST 5-10" 66" AB.CD.E AB,CCE B.C
0 STRUCTURE
| (e)oR 8'-1.75" 6 9" AB.CDE AC, B.C
IO = 2"x4"x1/8" 6063-T6 6-8" 7' 5" AB.CDE AC, B.C
_ Y 5'-10" 8'0" AB,CDE AC, B.C
[ i ettt gttt oo e _ JE—
NEG.ORRr - = 8'-1.75" 8 0" AB,CD,E AC,
2 S S - 2"x5"x1/8" 6063-T6 6'-8" 8' 10" AB,C,D,E AC, B,C
L ] Tk 5'-10" 9'5" A,B,CD,E AC, B.C
L
- BEAN Z oo 8'-1.75" 10' 5" AB,CD,E
O
T T 2"x4"x1/4" 6061-T6 6'-8" 11'6" A,B,CD,E A.C,
Hd o>y 5'-10" 12' 4" AB.CDE AC,
| V wugz
z32 « TYPE A: %-20 ALL POINT SOLID SET ANCHORS:
_ I | 2,0 - IN CONCRETE (3.35KSI MIN) WITH 7" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING
[ ] TN - IN HOLLOW CONCRETE BLOCK WITH 7" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING
1 ‘ ‘ ——— Emg « TYPE B: }" EYEWALL ARMOR MALE/FEMALE BOLT OR %-20 DEWALT PANELMATES (MALE/FEMALE):
= = L - IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SAPCING
Y - IN HOLLOW CONCRETE BLOCK WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING
- IN WOOD (G=0.42 MIN) WITH 1%" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING
34007 MAX 34007 MAX 3400 MAX 34007 MAX « TYPE C: %" ITW TAPCON SG:
- IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SPACING
SHUTTER WIDTH = 136.00" MAX - IN HOLLOW CONCRETE BLOCK WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING
- IN WOOD (G=0.42 MIN) WITH 17" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING
BEAM SPAN « TYPE D: %" MILLENIUM MILLFAST (W/ T&C ULTRACOTE):

N Y @
w(Slefe[=|g] [ g
Els|oslS| |8<58
<812 |&I5|5 52E3
Q|85 |5 |o|| |iEz=

=

a 2518
a - 2z05

=
Xm0 m/m s 22963
RN
TS
F3 ES=F
£9g2
[ 8] $5=2
QX | x| xH o 209
g2
gEoa
LEEE
SE8=
<
EEgH
Fxdl
A s022

[=] =
3 E2gY
= €50
) = wZE
< Tof =
£4o8lolo g8:8
a 2%
<D< @D @ 5892
2G5 TIEIE) ) goge
EEFS SR
K2R X&K =

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: - | -

PAGE DESCRIPTION:

OF




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

7/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT WITH

USE 2X4X1/4 ANGLE FOR 3” & 4”7 BEAMS,
USE 2X5X1/4 ANGLE FOR 57 BEAMS
, TYP. TOP AND BOTTOM OF BEAM.

1/4-20 S.S. MACHINE SCREW INTO 1/4-20
ALUMINUM RIV-NUT AT EACH VERTICAL JAMB

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

. . 500"
NYLON LOCK NUT 50 50 50% OF BEAM E:
1606" WIDTH MIN e , 5.00" , 1/4-20'S.S. MACHINE SCREW INTO 1/4-20 © o
) 63" | 1 |CL ANGLES | ALUMINUM RIV-NUT AT EACH VERTICAL © ¢
jE 750" | \ JAMB I s
O S e ! R (L BOLT wo Sz
/ & /@ $ iE " 828
O T | She] T g& m 8
O O \ [ il ~2§§
(3) 3/16"® STAINLESS STEEL ; \@ é SUJ\LI_) § @ o
POP RIVETS, TYP. EACH SIDE 63" E> & 205
OF HINGE e / FLU &0
\ OccMowsg
TYPICAL PANEL,HINHGE 2X4X1/4 ANGLE OR 2X5X1/4 ANGLE. Lo NI
SCALE: 37 =1-0 @ ® 6063-T6 ALUMINUM ANGLE, TYP. TOP oNJ8zuw
. 75" AND BOTTOM OF BEAM O WogZ
. e (1)7/16"9 SLa=0
7/16"® x 3-1/2° LONG 89
STAINLESS STEEL BOLT WITH S UBED MACHINE BOLT BEAM SPAN 100 BEAM SPAN————= n % w
NYLON LOCK NUT 50~ 50" WITH LOCK NUT < 1125" MIN ow
‘ ‘ (2) ANCHORS REQUIRED EACH (1) 7/16"® MACHINE [BOLT WITH MIN 150" © N
/@ ANGLE, SEE BEAM SCHEDULE LOCK NUT EDGE DISTANCE MIN. 2 T EDGE DISTANCE -
50" i £ 63" ANCHOR SPECIFICATIONS 300" O SEE BEAM SCHEDULE (/00D SEE BEAM SCHEDULE
i J\ . ANCHOR SPECIFICATIONS (FRONT VIEW) ANCHOR SPECIFICATIONS
S G AR (SIDE VIEW) OIN (FRONT VIEW) N
OR\\ o © (CONCRETE & HOLLOW o
() - TYPICAL WALL BRACKET CONNECTION DETAIL CONCRETE BLOCK) Z-BAR ANCHOR SCHEDULE N
4@ SCALE: 3" = 1"-0" O
ﬁ; . Lv MANUF.  |DIAMETER DESCRIPTION EOBE | MN | M o
50" E\ ] DISTANCE| EMBED. | SPACING i\ _
Do e R SRR CONCRETE (MIN. fc = 3350 PSI) ALK
QFZE/EL ;’VA'—'—ﬁ”gQE DEWALT | 1/4 IN. [STAINLESS STEEL PANELMATE | 250 IN [ 2.00 IN | 3.00 IN — st
T DEWALT | 1/4 IN. |MALE PANELMATE (or P..PRO)| 2.50 IN | 2.00 IN | 3.00 IN = ;E§ 23
DEWALT | 1/4 IN. [FEMALE PANELMATE 250 IN'[ 1.75 IN | 3.00 IN — 521 9
L oo — EYEWALL ARMOR | 1/4 IN. |MALE/FEMALE BOLT 2.50 IN | 1.75 IN | 3.00 IN S 92: ay
® s i 1/4 IN. |[TAPCON SG 2.50 IN| 1.75 IN | 3.00 IN ~S 8y
@\\ /@ ALL—POINTS| 1/4 IN. |SOLID—SET ANCHOR 2.00 IN |0.875 IN| 3.00 IN s =%
& e =
¢ T éu T o = MILLENIUM | 1/4 IN. |MILLFAST 2.50 IN | 1.75 IN | 3.00 IN Q:/, % ¢ e«
j HOLLOW CONCRETE BLOCK £ =8
¥ k> =4 DEWALT | 1/4 IN. |STAINLESS STEEL PANELMATE | 2.00 IN | 1.25 IN | 3.00 IN ﬁ 'S g %’
@J@J @@ @J@J @@ @J@J DEWALT | 1/4 IN. |MALE PANELMATE (or P..PRO)| 2.00 IN | 1.25 IN | 3.00 IN s Y_
LOUVERED SInE DEWALT | 1/4 IN. [FEMALE PANELMATE 2.00 IN| 1.25 IN [ 3.00 IN 3 e
(INSIDE) : : EYEWALL ARMOR | 1/4 IN. | MALE/FEMALE BOLT 2.50 IN | 1.25 IN | 3.00 IN o =
2 ITW 1/4 IN. |TAPCON SG 250 IN| 1.25 IN | 3.00 IN =
- ALL—POINTS| 1/4 IN. [SOLID-SET ANCHOR 2.50 IN |0.875 IN| 3.00 IN
| RN MILLENIUM | 1/4 IN. | MILLFAST 250 IN | 1.25 IN | 3.00 IN
WOOD (SOUTHERN YELLOW PINE, G=0.54)
QPA'E/EL EFAN}('E(\!Y (LOUVERED SIDE IN) JEDGE DIST DEWALT | 1/4 IN. |STAINLESS STEEL PANELMATE | 0.75 IN [1.875 IN| 3.00 IN
T = —
(2) ANCHORS REQ'D AT EACH WALL-HINGE DEWALT | 1/4 IN. |MALE PANELMATE (or P.PRO)| 0.75 IN |1.875 IN | 3.00 IN W2 2|8 5.8
SEE WALL-HINGE ANCHOR SCHEDULE FOR DEWALT | 1/4 IN. |FEMALE PANELMATE 0.75 IN |1.875 IN| 3.00 IN N ESNEEREHE
CONNELTION TO EXIST. STRULTURE EYEWALL ARNOR| 1/4 IN. | MALE/FEMALE BOLT 0.75 IN [ 1.50 IN [ 3.00 IN i g2
z e
W 1/4 IN. |TAPCON SG 0.75 IN | 1.50 IN | 3.00 IN % 5'3'_3 g g E gégg
LOUVERED SIDE 1/4 IN. |S.S. HANGER BOLT 0.75 IN | 1.25 IN | 1.50 IN zl Lo £E53
WO0OD (SPRUCE-PINE-FIR (SPF), G=0.42) HPEEHEREEE
[ 1/4 . |'ss. HANGER BOLT [o.75 i [1.25 w [ 150 ECEE
' 2 '
o e & el [Zi:ﬂ DEZZ@ 2 T
3 £25:
00 \g/~ e @6/ \G@ 5 5 2l |2
N WALL-HINGE ANCHOR SCHEDULE %28/288| | 3st
' (INSIDE) T HEERSERE TS
' MIN MIN HEREREREES
MANUF. |DIAMETER| ~ DESCRIPTION EDGE | e oD, | SPACIG =Slens |
2 DISTANCE : COPYRIGHT FRANK L. BENNARDO P.E.
: CONCRETE (MIN. ¢ = 3192 PSI) _
: mw [ 1/4 IN. [SS TAPCON 2.50 IN[1.00 IN [ 2.00 IN 20-26193
| { W [5/16 IN.[TAPCON XL 2.1875 IN 1.75 IN | 2.00 IN ﬁig;E;ESCRI;TION_l
TYPICAL PLAN VIEW (LOUVERED SIDE OUT) I HOLLOW CONCRETE BLOCK ! :
DGE DIST. T FDGE DIST.|, DEWALT | 1/4 IN. JULTRACON 250 IN | 1.25 IN [ 2.00 IN .
W [5/16 IN.[TAPCON XL 2.1875 N 1.75 IN | 2.00 IN oF
(2) ANCHORS REQ'D AT EACH WALL-HINGE WOOD (G=0.42 MIN) 7
SEE WALL-HINGE ANCHOR SCHEDULE FOR #14 |SMS OR WOOD SCREW | 0.75 IN | 1.50 IN | 1.50 IN
CONNECTION TO EXIST. STRUCTURE
1/4 IN._|LAG SCREW 0.75 IN [ 1.25 IN [ 1.50 IN




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

FRANK BENNARDO, PE \
PE# 0046549 CA#9885
©
CLOSED POSITION S g
[ Y Es
F7ad Fmg83
b W= 809
| i s0 DEED
> < o X
. QUG 8B
: E>q 20
: ) p<W ol 9
: ScOgis
i é o ﬁ @) EI O w
2 2 o4 demzu
Z 2 O WogZ
7 : SL 8y
SEE SHEET 7 FOR ALL PLAN VIEW 25 o
INSTALLATION POSITIONS S0
|
(o]
PLAN VIEW 1 o
— / — (2) #14x1" STAINLESS N
SCALE: 1-1/2" =1 -0 C’j STEEL SMS ©
-
[T
> - bm :
[ &
A " ' q e S &
S R . PLATE 0.090"x1"'%x3-1/2" WITH (2) 87 ng
E/S;ggfj ‘r \éﬂg £ ‘ B IVAUVAVVAVAR A B \Wb { { ;ﬂ- 8 E(D ™M
[T} 1 @
‘E?@EE! PG 1/4"¢ RIV-NUTS (TOP & BOTTOM X £ == i _— 2% &0
e & S2i g
Cifiiq OF PANELS] 1) 571670 ITW TAPCON X1 Il (2) #16x1" STAINLESS Q Zas 2 0
EES A Frres OR (2) 1/4"9 ITW SS TAPCON E : STEEL oS 5 z 9 Y
D | | || OR (2) 1/4"¢ SHEET METAL SCREW B - o § =%
LLpehs ’g E); | = L OR [2) /470 LAG SCREW D D \_YN§ v«
T % $$ L] (A 2 W
L L SEE ANCHOR SCHED. FOR MIN £ =a
£ T Re="=: imimapy EMBED. & EDGE DIST ' g ﬁ% 83
‘ AIARLVRVINRAMARVARARAAAN \I\E j 3 % < L—_
2 N\ === o)
CLOSED POSITION o N 3 S !
z (2) #16x7" STANLESS (1) 5/16"® ITW TAPCON XL I F* =
2 : CriEL ohe OR (2) 1/L"9 ITW SS TAPCON
v 3 D) )|[OR (2) 1747 SHEET METAL SCREW )\
W OR [2) 1/4"¢ LAG SCREW
« SEE ANCHOR SCHED. FOR MIN
: q EMBED. & EDGE DIST
— BT ) ) wSielesgl | g,
‘é«\\ AVRMAREMAMAY B EgBBEg %éé%
PLAN VIEW 2 N il o/8|55|8|R |#E:E
— / —~ (1) 5/16"® ITW TAPCON XL I g S CEEE §§§§
SCALE: 1-1/2" =1"-0 OR (2) 1/L"9 ITW TAPCON SlzlFlzlz|@| | §2ek
OR (2) 174”9 SHEET METAL SCREW 2 |zlz|z|m| |EEzf
OPEN POSITION LOCK O L) 1 9 LAG SEREN HEHEHE R
SEE ANCHOR SCHED. FOR MIN ELef
ANCHOR SCHEDULE: FMBED. & EDGEDIST
. w w855
2 g25k
WITH "C" CLIPS OR DOUBLE "C" CLIPS: w = £25-
¥ = EBus
T.O(12)8?/91§|Si[TI\\/4VI_I|:lAP((::%II‘I\ICXRLE\'/rVI/E:1_3/4" MIN (HINGES NOT SHOWN FOR CLARITY) E % 2 3 8|8 | 3888
" ' clxlzs|gl | 2825
EMBEDMENT AND 2" MIN. EDGE DISTANCE. (DOUBLE 'C* CLIP) (SINGLE "C" CLIP) us2 5|8 |28
TO 3192 PSI MIN. CONCRETE: COPYRIGHT FRANK L. BENNARDO P.E.
2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN.
.E(MI)3EDMENT AND 1" MIN. EDGE DISTANCE. NOTE 20-26193
70 HOLLOW CONCRETE BLOCK: CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69°. ONE CLIP REQ'D AT MID-SPAN (+3"] FOR =t - B
o (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. SPANS < 697 PAGE DESCRIPTION:
EMBEDMENT AND 4" MIN. EDGE DISTANCE. :
TO SO RN, WOOD HOSTETBUCTURE: ' >
L]
W/ 1-3/4" MIN. THREAD PENETRATION AND 3/4" MIN. OPEN POSl,,TIE)N,LOQK 7
EDGE DISTANCE. SLALE: 37 =71-0
e (2) 1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE. é:!]
J




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

oo DE
TYp7£0RK1 -

vi[p

vi[p

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

W,

=X

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

6.30
TYP A Y1> e L]
i L] / 5
o
(= : 1 Ny - =
\\ ~ = — —
= P2 z G Z G
Pi P2 z = @@\ I " ——  A— W i o
29 \ ] . _aw en S _a— - W ' ' - I B — m
! ! ! T % DETAIL L _ _
% DETAIL L . (e)orR OR 4a IR w=vn . .
(6)oR OR 4a = (®) b | < N
ol =0= ié z 4 g a o o
Lo k) R ] 0 . : g
G) - = =
- z — = =
&) O o
— 5 % n
v X X
X N < <
N 2 v I . .
[\\ (o)} [e)}
(o)}
o Ydt Ydt
ut =
=
\ \ — 6.30" \L@ = 1Y
6.30" % \@ = TYP L= ., L= ., @
VP —_— 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING
37" SLIDING 37" SLIDING 34.00" MAX PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX
34.00" MAX 34.00" MAX PANEL, MAX PANEL, MAX 4 {
7 7
ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE: N TS SCALE: N.T.S
SCALE:NTS
vi[p vi[p
] [
SLIDING PANEL TRACKS EXTEND
— BEYOND FOR SHUTTER STORAGE —
IN NON-STRUCTURAL OPEN
- POSITION, TYPICAL. -
Z{St) P2 Z 5 a2 2 &
I v I v I 4 w I v ! 4 w
T T
FDETAIL L 5 FDETAIL L, 5
LOR 4a - =0 ) % [ L1, OR 4a _ = (R (UE) %
|!§: L < |E§: <
e[ o HES o
el . ] .
— Z ~. Z
— 5 MAXIMUM ALLOWABLE DESIGN — 5
5 PRESSURE FOR SLIDING TRACK 5
i OPTION: Q
X +57.2 / -66.2 PSF x
> >
= =
[ea} [e)}
v2p— v _—
\ \
SO - -
37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDI 37" SLIDING 37" SLIDING

PANEL, MAX

L PANEL, MAX

PANEL, MAX

PANEL, MAX

ELEVATION: 4 SLIDING PANELS

SCALE: N.T.S

NOTE: SLIDING PANEL
CONSTRUCTION SAME AS
HINGED PANELS

PANEL, MAX

PANEL, MAX

PANEL, MAX

SCALE: N.T.S

@ ELEVATION: 3 SLIDING PANELS

N

o))

i

o~

©

i

i

t o
wy g
o 3 ¢

=ifies

o8 <

©55 G M

=D_g“5 X m

oS 5 m

= [T

Ofcﬂi <Z(|.u‘

o O 5

& =<

[a)]

1 e |_DC

Q// = ﬂl.u

= =0

g o:)

ﬁ 2 383

© < .

© e
@
S e
-
= =

N Y @

w(Slefe[=|g] [ g

ElsoIslS| |8<58

<82 |&I5|5 52E3

Q|85 |5 o || |2Ez=

=

s a5ik

a - 2z0p
-

xmmmm; 2293

RN

EETo

F3 EfeF

£9g2

x Q £5z2
QX | xxH o 209

g2

gEod

LEEE

SE8=

<&

EEgt

Fxgr

A s022

[=] =

3 ESgt

= E

) = wZE

< Sof =

£4o8lolo g8u8

a £329

g |0 |g|Dm §ggg

2G5 T8I goge

EEFS S

KZ 8 =

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: - | -

PAGE DESCRIPTION:

OF




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

LSS S
ANCHORS PER

SO

2x4x0.125

/ALUM\NMUM
/ANGLE

/ALTERNATE LEG
DIRECTION

3 174"

-20 MACHINE SCREW W/

NUTAT 12" 0.C,, TYP

OPTION:
+57.2 / -66.2 PSF

MAXIMUM ALLOWABLE DESIGN
PRESSURE FOR SLIDING TRACK

ANCHORS PER
"LEG IN”
SLIDING PANEL

/TRAEK ANCHOR
/ SCHEDULE

TYP

E

WHEEL CARRIAGE
ASSEMBLY AT 3"
FROM EACH END AND
10.25" 0L, TYP

N—1/4-20 RIVNUT

AT EACH WHEEL
CARRIAGE

O

TYP

@("

SLIDING PANEL TOP TRACK

SCALE: N.T.S

7 " ANCHORS PER/

v “LEG IN?
# SLIDING P ANEL
Z TRACK ANCHOR”

SCHEDUL

# ANCHORS PER
/. "LEGOUT?
7 SLIDING PANEL

=1/

I8
N

TYP

T 1/4-20 RIVNUT

» TRACK ANCHOR
;/ SCHEDUL /
/ ,»uuu»»n»»u(/»&@a'

9

"LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HOST SLIDING PANEL VERTICAL SPAN
ANCHOR
STRUCTURE cHo 36" 48" 60" 72" 84" o7
1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C.
CONCRETE DISTANCE
(3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C.
EDGE DISTANCE
CONCRETE 1/4" MILLENIUM MILLFAST W/"1—3/4" i i § § i i
(3500 PSI MIN.) | MIN. EMBEDMENT AND 2-1/2" MIN. | 16"O.C. | 16"O.C. | 16"0.C. | 16"O.C. | 16"O.C. | 16"O.C.
EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 13"0O.C. | 11" O.C. 9" 0.C. 8" 0.C. 7" 0O.C.
EDGE DISTANCE
1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 15" O.C. | 12" O.C. 9" 0.C. 8" 0.C. 7" 0O.C. 6" O.C.
DISTANCE
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4"
CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 16"0.C. | 13"O.C. | 10"0.C. | 8"O.C. | 7"O.C. | 6"O.C.
BLOCK EDGE DISTANCE
5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE 16" O.C. | 16" O.C. | 15" O.C. | 13"0O.C. | 11" O.C. 9" 0.C.
DISTANCE.
5/16" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8"MIN. | 16" O.C. | 16" O.C. | 16" O.C. | 14"O.C. | 12"O.C. | 10" O.C.
EDGE DISTANCE
1/4" LAG SCREW W/ 1-1/2" MIN.
EMBEDMENT AND 3/4" MIN. EDGE 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C.
WOOD (G=0.42 DISTANCE
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 15" O0.C. | 13" O.C.
EDGE DISTANCE.

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX
FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

1/L"-20 MACHINE
3 SCREW W/ NUTAT
1200, TYP.

AT EACH WHEEL

CARRIAGE
—
B S
T 1l = [
o
h} == — = —

- 2x4x0.125
S = = \ ALUMINMUM
o LRI LR ANGLE
i‘ [ 1 [ 1 ]

I jsus]

WHEEL
| jﬂ CARRIAGE

ASSEMBLY AT

3" FROM EACH
END AND 10.25 "

0.C, TYP

ALTERNATE LEG

DIRECTION

SLIDING PANEL BOTTOM TRACK

SCALE: N.T.S

SLIDING PANELS CLIPPED
TOGETHER IN LOCKED POSITION

WHEEL CARRIAGE, TYP.

AT SLIDING PANEL LOCKING EDGE,
PROVIDE 1/4-20 BOLT AND NUT IN FRONT
OF WHEEL CARRIAGE. BOLT SHALL GO
THROUGH ANGLE AND TRACK TO HOLD
PANELS STATIONARY IN CLOSED POSITION.

WHEEL CARRIAGE STOPS FOR SLIDING PANELS
SCALE NTS.

1"x1"x0.062" MIN.
ALUMINUM ANGLE,
FASTENED TO
PANEL WITH 3/16"
5052 ALUMINUM
POP RIVETS @ 24"
0.C. MAX

1"x0.062" MIN. ALUMINUM
PLATE, FASTENED TO PANEL
WITH 3/16" 5052 ALUMINUM
POP RIVETS @ 24" O.C. MAX

WITH PLATES

WITH ANGLES

SLIDING PANEL INTERLOCK
SCALE N.T.S.

"LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HOST SLIDING PANEL VERTICAL SPAN
ANCHOR
STRUCTURE 36" 48" 60" 72" 84" 97"
1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 16"0.C. | 13"0.C. | 10"0.C. | 9"0.C. | 7"0.C. | 6"0.C.
CONCRETE DISTANGE
(3192 PSIMIN.) | 1/4" DEWALT ULTRAGON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16" 0.C. | 16" 0.C. | 13"0.C. | 11"0.C. | 9"0.C. | 8"OC.
EDGE DISTANCE
CONCRETE | 14" MILLENIUM MILLFAST W/ 1-34" | ] ] ] ] ]
(3500 PSI MIN,) | MIN. EMBEDMENT AND 2-1/2 MIN. | 16"0C. | 13"0C. | 10"0C. | 9"0.C. | 7"0.C. | 6"0C.
EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2"MIN. | 7"0.C. | 5"0.C. | 4"O.C.
EDGE DISTANCE
1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN, EDGE | 6"0.C. | 4"0.Cc. | 4"0.c. | 3"0.C. | 3"0OC.
DISTANCE
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4"
CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 6"0.C. | 5"0.C. | 4"0C. | 3"0C. | 3"0C.
BLOCK EDGE DISTANCE
5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7"0.C. | 6"0.C. | 5"0.C. | 4"0.C. | 4"0.C.
DISTANGE.
5/16" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN. | 10" 0.C. | 8"0.C. | 6"0O.C.
EDGE DISTANCE
1/4" LAG SCREW W/ 1-1/2" MIN.
EMBEDMENT AND 3/4" MIN. EDGE | 16"0.C. | 14"0.C. | 11"0.C. | 10"0.C. | 8"0.Cc. | 70.C.
WOOD (G=0.42 DISTANCE
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. | 13"0.C. | 10"0.C. | 8"0.C. | 7"0C. | 6"0.C. | 5"0C.
EDGE DISTANCE.

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
LOCATED 2" MAX FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

STREOF
... FLOROM:

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

o

o))

i

o~

©

i

i

t o
wy g
o 3 ¢

=ifies

o g <

»55 O M

=D_g“5 X m

oS 5 m 4

= [T

Ofcﬂi <Z(|.u‘

o O 5

& =<

a

1 e |_DC

Q// = ﬂl.u

= =0

=5 o

2 383

© < .

© =
@
S e
-
= =

N [T
w|o~o &
Wi C e 523
FsSS Iz ogsg
<|QS|BR|= ZxEg

N -d|olo EEET
0N F slelis 1EZc
—|Y|@ |0~ Hufi
gSEd
ZES
gmmmmz PEE
a29
IS w232 |sgew
O |- ||| 2=E8
= SEGZ
g z\z|z|la ez
BEF=2
xas 220 252
alk|x|x|x|O £34%
225
FEoa
CEEL
5582
>%<h
EFlga
=
w io8¢g
a uE
< Fogw
) wI W
o T3
z
. wZEE
e pd ERLS
w a Sguy
X ooalolo wsaeo
gD |0 |D|m 58892
Dl || 8“‘5§
E_v>r\o ahsF
weE =gy oxZo
X = x| && B
= =

COPYRIGHT FRANK L. BENNARDO P.E.

20-26193

SCALE: - | -

PAGE DESCRIPTION:

OF




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26193 - FL16219.2 - FullView Colonial Shutter Hybrid (HVHZ Only)\WP\2020 FBC\20-26193d - FL16219.2 - DWG.dwg

rickn

08/11/2020 - 10:01pm

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

Z > - —///’/”/‘;TT;EW%\
vy PLATE 0.090"x1"x3-1/2" WITH (2) £ > v S ////{\\L/\;ﬂngPLATE 0090 x1"x3-1/2
e ) B . .
H }%/W/L”@ RIV-NUTS (TOP & BOTTOM ’éf gy . WITH (2) 1/4"® RIV-NUTS
CLOSED POSITION I OF PANELS) ﬁ;;%,% N T oI (TOP & BOTTOM OF PANELS)
i \’o’rzé e i - o
Mo || NN I
e ) e ”" z

CLOSED POSITION CLOSED POSITION

N NN

N

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442
ENGINEERINGEXPRESS.COM

PLANVEEWT PLANVEEW2 PLAN VIEW 3
SCALE 1-1/2" = 1-0 SCALE 1-1/27 = 17-0 S P R T
Zp . PLATE 0.090"x1"x3-1/2" WITH (2] ~
Zp IRIEEES S j’;; 1/4"® RIV-NUTS (TOP & BOTTOM =
I I e oF PANELS =
CLOSED POSITION CLOSED POSITION - il e i\ @
LY Bl
=il g8
A I 8 CLOSED POSITION =25 oF
| j‘l g 22
| ' £ LR
\ \ S %é §§
_ | _ | - = s
PLAN VIEW 8 = § &
PLAN VIEW 4 PLAN VIEW 5 SCALE: 1-1/2" = 170" EQ g

SCALE: 1-1/2" = 17-0" SCALE: 1-1/2" = 1-0"

2p
2 MNEENE
o -==ATTY(YES) EiSIslsinls
CLOSED POSITION — e CLOSED POSITION N HHEE
E\Eg\nf \'\ ///7///7///53)3 = ~
12) gk dede 1 T h | AAENE
. e S D Ot~ | [ =~ T3
| | 2328
_ o | |2
N\ | ii\\ P
—_ —_ SRS
X Z & x| &

COPYRIGHT FRANK L. BENNARDO PE.

PLAN VIEW 7 PLAN VIEW 6
SCALE 1-1/27 = 17-07 SCALE 1-1/27 = 17-07 20-26193

SCALE: - | -

PAGE DESCRIPTION:

OF

7




		2021-01-07T10:00:31-0500
	Frank Bennardo




